All results for Rubidium isotopes

Rubidium 71 (Z=37, N=34) Rubidium 72 (Z=37, N=35)
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Rubidium 75 (Z=37, N=38) Rubidium 76 (Z=37, N=39)
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All results for Rubidium isotopes

Rubidium 77 (Z=37, N=40) Rubidium 78 (Z=37, N=41)
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Rubidium 79 (Z=37, N=42) Rubidium 80 (Z=37, N=43)
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Rubidium 81 (Z=37, N=44) Rubidium 82 (Z=37, N=45)
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All results for Rubidium isotopes

Rubidium 83 (Z=37, N=46)
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Rubidium 85 (Z=37, N=48)
T T T T T @ Rl
L A <1 Proons El I b Protons
o $ Neutrons ~ T o Neutons
/ b 5 £
nls 4 =
o o s Zoog- E
Q . : en 17
rotons ®
N\, Neutons 8
£ OB 1 0 5 10
Lot PRNT/ARY 1 (fm)
s Protons P
e 3 [P P rotons_ Neurons
S 4 Neurons 1 7
14 Prowns = ~ 400 +
q Neurons 3
&S H
< oL 4
z = T T T }32
10 4 =
e 1
Mool YA
el s et o 3 T
3
b3 =
05 1 5. S
b w
r I
g E g
05 00 05 10 05 00 05 10 05 00 05 10
8 3
HFB-DLS Bruyéres-le-Chatel
Rubidium 87 (Z=37, N=50)
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Rubidium 84 (Z=37, N=47)
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All results for Rubidium isotopes

Rubidium 89 (Z=37, N=52) Rubidium 90 (Z=37, N=53)

R/, A"

SR (fm?)

T T T o T T RRRARRES o T
[ a < Protons P Protons i 1 Protons o~ Protons
6 $ Neutrons ol 4T ok Neutons 3 B Newons] o AT ok Neurons 3
/ 2P 4 > < / > £
/ = - 2 ook Ei s L 2 Toof E
WoR N & T e ~NY g
Protons \ . EXi 7 ) i Protons \ Lo B ) 0
., Neutons = N\, Neurons X
E 2 + ab B 4 0 5 10 15
RARAR RARAN
TR . PR VAT T p—. TV 1 (fm)
< L Proions o | P
S S — SN § [ — st
& S SETNE
| Poons < A~k E Protons p ok E|
Neutrons 1 &E - q % Neutrons ¢ €L
] s < o
2o 13 e Zaf E
e < = Eanaaes )
® w o 0
- q s 100 B 10- g = 10t B
2 E
ol Tl ol llonneflneral
R St T LT o E e
o ]
i a4 & s = s
w1 Ea q < 7T uw 1 37 7
z £ =)
T 7 w 05 g w
& & 1%
i L9 od i Q.
TN Lo Ll Lol A I
05 00 05 10 05 00 05 10 05 00 05 10 05 10 05 00 05 10
8 B 8
HFB-D1S Bruyéres-le-Chatel HFB-D1S Bruyéres-le-Chatel

Rubidium 91 (Z=37, N=54) Rubidium 92 (Z=37, N=55)
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Rubidium 93 (Z=37, N=56) Rubidium 94 (Z=37, N=57)
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All results for Rubidium isotopes

Rubidium 95 (Z=37, N=58)
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Rubidium 97 (Z=37, N=60)
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Rubidium 99 (Z=37, N=62)
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Rubidium 96 (Z=37, N=59)

1§ 9 a N
e < [ Prons ~ e
g 1 £ ol Neutrons
s Tal 1 &
2 > 3
d g 2 oo Ei
Protons e b 3 \__
Neutrons <
0o 5 1 15
w (RARAR] T
— Lo bl r (fm)
Uy 80T Proions__ Neutons
Protons o i
Protons Neutrons 1A
o 12- Newons ?uﬁmi E
<
g 2 o] E
© 5
o . 4
o s 210f E
S P | TV
T o S
3
o s S 2l
Fir w 2
% <
S
g w
o
“og e
o—R-R_] 3
b 1 MY

R/, A"

SR (fm?)

SR (fm?)

HFB-D1S Bruyéres-le-Chétel

Rubidium 98 (Z=37, N=61)
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All results for Rubidium isotopes

Rubidium 101 (Z=37, N=64) Rubidium 102 (Z=37, N=65)
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Rubidium 103 (Z=37, N=66) Rubidium 104 (Z=37, N=67)
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Rubidium 105 (Z=37, N=68) Rubidium 106 (Z=37, N=69)
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All results for Rubidium isotopes

Rubidium 107 (Z=37, N=70)
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Rubidium 109 (Z=37, N=72)

T
Protons
o Neutons

T T T T T
/ Protons J o 3
Neutrons;

Protons AN ORI
Neutrons

-E. (MeV)
%
I & MeVv?)

-
I

£ (m %)
f
I

Protons
Neutrons

Protons (R
Neutrons

A (MeV)
7
.

T

.

: s

S gl R

e 2

8 w
4 s s E

8R? (fm?)

ZPE (MeV)

HFB-D1S Bruyéres-le-Chétel

Rubidium 111 (Z=37, N=T74)
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Rubidium 108 (Z=37, N=T71)
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Rubidium 110 (Z=37, N=73)
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Rubidium 112 (Z=37, N=75)
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All results for Rubidium isotopes

Rubidium 113 (Z=37, N=76) Rubidium 114 (Z=37, N=77)
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Rubidium 115 (Z=37, N=78) Rubidium 116 (Z=37, N=79)
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Rubidium 117 (Z=37, N=80) Rubidium 118 (Z=37, N=81)
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All results for Rubidium isotopes

Rubidium 119 (Z=37, N=82) Rubidium 120 (Z=37, N=83)
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